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What is Linda now?

Linda is a teacher in Elementary School

——)

Lincla is a Bank teller

Linda is an active feminist

Unprobable
Propable

Linda is an insurance sales person

—0

Lincla is a Bank teller and an active feminist

—_—




On a standard novel page how many 7-letter words are of the

form:

10.7
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Probabilities for the nhext Chess World Championship Match

Unlikely

Magnus looses first game

—_—

The first game is drawn

——)

Magnus wins the match

Magnus looses first game but wins match

—)

3.2

Likely
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Which sequence would you choose. (Which has highest
probability of winning)

14

0
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What is the probability that Bill is infected?

99.9% 00% 10%
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Of 1000 women that fit the desciption of Linda - how many are:

Very few

a teacher in Elementary School
a Bank teller

—

an active feminist

an insurance sales person

ad Bank teller and active feminist

—

6.2
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Many

27
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23 kroner for sure is just as good as 1000 kroner with probability p s
and -1000 kroner with probability 1-p

0%
100%

P equals:

—)




Opinions and prerequisite

Assuming rationality is stupid!

—C)

Assuming egoism is stupid!

——ee®

| know Expected utility theory

Strongly disagree
Strongly agree

4.3

9 LI E Inefituie of Basic Medical S
Uity of Uaka



